D1vISION WITH A REMAINDER II (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

®1) 29079 + (—10) =
12 26471 + (=3) =
183 —30425 + 5 =

#1) 9867 + (—2) =
15 —14632 + 3 =

w6 —2177 + (=8) =
7). 37430 =5 =

188 —4841 + 9 =

180 —33043 + 4 =

w00) —27333 + (=h) =
w1 —3300 + (=3) =
92) 6669 + (—1) =
93 —47324 + (—9) =
1019 —41074 =9 =

105 —8784 = (—5) =

Mathematics: Division - Level 8 - Horizontal - Set 2
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18

—16485 + (—8)
62361 + (—8) =
—3570 +2 =
—12968 <+ (=7)
33583 + (—6) =
40191 =8 =
11391 + (=5) =
18547 = 10 =
—36754 =+ 8 =
—64628 = 10 =
—53368 + 7 =

—63459 + (—7)

45416 = (—10) =

—15295 = (—3)

—6087 =8 =
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